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TLEEA N (2021F2A 7)) BERIEHR R

B Fhy
4 A 3 4 5 6 7 8 9 10 11 12 1 2 3~28 R&t
) [B1Z 1 5 40 39 39 38 38 38 38 38 38 38 38 38 38
e L4 3,406 2,634| 2,354| 2,123| 2,240 2,506| 2,493| 3,119| 3,180 3,240 2,972} 3,116 33,384
IE:S 4,032 3,618 3,464 3508 3,438 3,050 3,404 3,115 3,409| 3,345| 3,228 3,361 40,972
12 % ATERLE | 0.84 0.73 0.68 0.61 0.65 0.82 0.73 1.00 0.93 0.97 0.92 0.93 0.81
(RTALL) — 0.77 | (0.89) | (0.90) | (1.05 | (1.12) | (1.000 | (1.25) | (1.02) | (1.02) | (0.92) § (1.05) —
[R5 LA 4,372 3,780 3,545 3,660 3,790 3,868 3,640 4,186 4,145 4,588 3,825 3,447 46,848
(BIRAE.R35%)| BiIE 4,985 4,222 4,252 4,344 4552 3,989 4,097 4,180 4,373| 4,493| 4,116] 4,067 51,671
21 3t ATERLE | 0.88 0.90 0.83 0.84 0.83 0.97 0.89 1.00 0.95 1.02 0.93 0.85 0.91
(RTALL) — (0.86) | (0.94) | (1.03) | (1.09) | (1.02) | (094 | (.15 | (0.99) | (1.11) | (0.83) | (0.90) —
g L4 1,138 921 855 858 977 1,113 1,055 932 850 1,159 1,097 1,042 11,998
(R, 3—9R) GIE:S 1,229] 1,175 1,050 1,042 1,228 1,155 1,172 1,206 1,134 1,256 1,148 1,189 13,984
13 4 ATERLE | 093 0.78 0.81 0.82 0.80 0.96 0.90 0.77 0.75 0.92 0.96 0.88 0.86
(RTALL) — (0.81) | (0.93) | (1.000 | (1.149) | (1.14) | (0.95) | (0.88) | (0.91) | (1.36) | (0.95) | (0.95) —
LT L 162 148 130 120 127 136 125 148 149 144 142 148 1,678
IE:S 223 200 198 210 188 172 173 182 173 159 156 148 2,183
o 4t ATERLE | 0.72 0.74 0.66 0.57 0.67 0.79 0.72 0.81 0.86 0.91 0.91 1.00 0.77
(RTALL) — (0.92) | (0.88) | (0.92) | (1.06) | (1.07) | (092 | (1.19 | (.00 | (0.97) | (0.98) | (1.04) —
e LA 2,334 2,163 1,748 1,972| 2,189 2,071| 2,184| 2,398| 2,251| 2,359 1,955) 2,021 25,644
(R avTrE)| B 2,389 2421 2236 2,354 2474 2263] 2459 2,388 2364 2277 2041 2,174 27,840
21 3t ATERLE | 0.98 0.89 0.78 0.84 0.88 0.91 0.89 1.00 0.95 1.04 0.96 0.93 0.92
(RTALL) — 0.93) | (0.81) | (1.13) | 111 | (0.95 | Q.05 | (1.10) | 0.94) | (1.05 | (0.83) | (1.03) —
SEE L4 4,597 2,843 2,083 3,107 3,828 3,169 4,064 4,409 4,103| 3,763| 3,581 4,078 43,625
IE:S 5,070 4,225 3,815 4,369| 4,302 3,349| 4,316 3,645 3,914| 3,533 3,445| 4,092 48,076
12 % ATEXRLE | 091 0.67 0.55 0.71 0.89 0.95 0.94 1.21 1.05 1.07 1.04 1.00 0.91
(RTALL) — 062 | (073 | (1.49) | (1.23) | (0.83) | (1.28) | (1.08) | (0.93) | (0.92) | (0.95) | (1.14) —
HAUR L4 2,537 2,217| 2,082 2,420 2,413| 2,394| 2,223| 2,653| 2,739 2,726] 2,027 2,205 28,636
IE:S 2,490 2,375 2,309 2,503] 2,711 2,263] 2,454 2610 2,741 2,657 2275 2,476 29,863
12 % AT X} L 1.02 0.93 0.90 0.97 0.89 1.06 0.91 1.02 1.00 1.03 0.89 0.89 0.96
(RTA kL) — 0.87) | (094 [ .16 | (1.000 | (099 | .93 | 119 [ 1.03 | 1.00 | (0.749 y (1.09) —
EYir L4 18,547 14,705| 12,798 14,261| 15,562| 15,257 15,783 17,845 17,417| 17,979| 15,599{ 16,059 191,812
&Et GIE:S 20,417| 18,236| 17,324| 18,329 18,895 16,242| 18,075| 17,325| 18,109 17,719 16,4101 17,509{ 214,590
a8 3 ATEXRLE | 091 0.81 0.74 0.78 0.82 0.94 0.87 1.03 0.96 1.01 0.95 0.92 0.89
(RTA LL) 0.79) | .87 | 1.11) | (1.09) | .98 | (1.03) | (1.13) | (0.98) | (1.03) | (0.87) | (1.03) —
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CilaE iR ] e T EEA N (2021528 7)) X RIEHR R

BT FKL-Fho

4 A 3 4 5 6 7 8 9 10 11 12 1 2 3~28 R&t
) [ &+t £ 28 27 27 27 27 27 27 27 27 27 27 27 27
=0 L 2,328 2,108 1,946 1,967 1,994 2,091 1,910 2,181 2,556 2,493 2,630 2,268 26,469
‘ B 2,004 2,051 1,808 1,866 2,104 2,066 2,019 1,957 2,279 2,417 2,228 2,290 25,089
16 2 BIEXTEE 1.16 1.03 1.08 1.05 0.95 1.01 0.95 1.11 1.12 1.03 1.18 0.99 1.06
(RTA k) — 0.91) | (092 | (1.01) | (.01 | (1.05) | (091 | (1.149 | (117 | (098 | (1.05) | (0.86) =
e L 5,358 4,545 4,112 4,675 5,006 5,040 4,633 5,021 5,128 5,315 5,241 4,859 58,932
B 5,987 5,522 5,680 5,578 5,883 5,346 5,492 5,509 5,913 6,229 5,943 5,534 68,615
12 3 BIEXTEE 0.89 0.82 0.72 0.84 0.85 0.94 0.84 0.91 0.87 0.85 0.88 0.88 0.86
(RTA k) — 0.85) | (0.90) | (1.149) | (.07 | (1.0D) | (092 | (1.08) | (1.02) | (1.04) | (0.99) | (0.93) =
p— L 608 632 569 554 615 619 547 623 648 703 688 670 7,474
B 749 769 689 688 721 728 698 703 756 741 697 629 8,568
14 3 BIEXTEE 0.81 0.82 0.83 0.80 0.85 0.85 0.78 0.89 0.86 0.95 0.99 1.06 0.87
(RTA k) — (1.04) | (0.90) | (097 | (1.11) | (1.0D) | (0.88) | (1.14) | (1.04) | (1.08) | (0.98) | (0.97) =
BERIE L 510 480 416 372 429 473 421 499 559 632 661 577 6,028
(LPG. E /7 —%) FIE:2 563 570 511 453 547 521 504 499 525 586 564 525 6,367
14 3 BIEXTEE 0.91 0.84 0.81 0.82 0.78 0.91 0.84 1.00 1.06 1.08 1.17 1.10 0.95
(RTA k) — 0.94) | (0.87) | (0.89 | (1.15) | (1.10) | (0.89) | (1.18) | (1.12) | (1.13) | (1.04) | (0.87) =
=RIRR =3 98 67 90 98 95 103 107 100 118 123 114 103 1,217
(PRI7ILN, BEE) I3 119 73 81 86 121 83 96 90 103 108 115 93 1,169
7% BIEXTEE 0.82 0.92 1.11 1.13 0.78 1.24 1.11 1.12 1.15 1.15 0.99 1.11 1.04
(RTA k) — 0.69 | (1.34) | (1.09 | 097 | (1.09 | (1.049) | (094 | (1.18 | (1.05 | (0.93) | (0.90) =
MEE LE 437 418 362 362 381 399 347 388 408 417 433 419 4,771
(HBk. HHEY—5'%) FIE:2 458 458 390 394 448 435 430 453 409 425 424 394 5,117
13 3 BIEXTEE 0.95 0.91 0.93 0.92 0.85 0.92 0.81 0.86 1.00 0.98 1.02 1.06 0.93
(RTA L) — (0.96) | (0.86) | (1.00) | (1.05) | (1.05) | (0.87) | (1.12) | (1.05) | (1.02) | (1.04 | (0.97) =
HEfR L 9,338 8,249 7,495 8,027 8,520 8,726 7,965 8,811 9,417 9,683 9,766 8,895 104,891
&t IE:3 9,879 9,443 9,158 9,065 9,824 9,179 9,239 9,212 9,985 10,504 9,971 9,466 114,925
27 % BIEXTEE 0.95 0.87 0.82 0.89 0.87 0.95 0.86 0.96 0.94 0.92 0.98 0.94 0.91
(RITA k) — (0.88) | (0.91) | (.07 | (1o06) | (1.02 | (091 | (111 | 107 | (1.03 | (1.01) { (0.9D =
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